SN EEFRBRTEERE LRELEKS

2024/05/11

2024F5A118 (L)
FRBETRE LIS s

18:31:?? Pagte: 1
RE—E

wES B 1H 21 3 a1 511 61z 71 8l
50m 5/11 |k 29 (1) 10.43
FEY
50m 5/11 |#i# Z2Q) 9.93| K& 2122 10.35
FoEs b
50m 5/11 IR 831 ) 8.21 5% RZQ) 8581 E BZQ) 884 XE XHm0O 896t EH0O 9.02|Fiik BA Q) 9.36| &% BH0O 9.42
FEY sy FEs sy FEs Ly FoEs
100m 5/11 | #% 1£1E @) 16.91/ |/ A (4) 17.37/| R L& @) 17.67/|%@# [E#H 4) 21.94/
FoEs Ly FoEY sy
100m 5/11 %A% 6K (5) 15.88/| 5@ 1&E (5) 19.14/
& FoEs FaEs
100m 5/11 |ZBE FEKER(6) 13.63/| % HEst(6) 14.27/ | BEH 5% (6) 15.27/ | %84 FEA (6) 18.34/
FoEY FoEs FREY sy
T00m 511 | B2 B0 13,50/ [t XA 12,98/ [l 5% 0) 16.20/["E AB ) 17,14/
A FoEs sy FoEY sy
1000m 5/11 || % (6) 3:13.66 | @A HE# (6) 3:14.27| ¥l 3R (6) 3:18.93| 85K E&K(6) 3:24.01|#&R EA (6) 3:24.86| =@  #iE (6) 3:32.38| B Hi 3) 3:42.12| ke 22 (6) 3:51.73
FoEY Y FoEY Ly By sy HTER FoEs
FENFHE 5/11 | =& iR(6) 3m75/ 0.0|FH ZEE(6) 3m71/ 0.0| @ #Eth (6) 3m30/ 0.0
FREY sy FREY
BTN e sha0- 5/11 | &L 185 (6) 35m32| ik B (6) 25n90
PR FaEsy D)
4x100m 5/11 |{RZUEH77° A 54. 93 | {RBIEH77° B 58. 87| {72537 C 1:04. 09 [{7245957°D 1:09. 91
B i) R0 Bl 1553 (6) HE KA1
BE H6) Bt () IR BEH (6) il 5% 6)
10 HE 18(6) 10 INE KB (5)
AE AR (6) #s W) =@ ) TH BEE)
100m 511 | B BEQ) .71/ [ER BE 11,73/ "% A () 1.97/| 48 2@ 12.01/| &K BHO) 12.05/|16 1% Q@ 12.36/| R ERQ 12.56/| L& 28 @) 12.57/
i EHE e faE = — = myE
400m 5/11 [lLA &2 55.20m% RKREQ) 51.76| /MR HER(2) 58.03|#A4E R Q) 58. 72|18 K— @) 59.56| 53 #HAQ) 1:00.30|FH BRE#Q) 1:00.45|78H @= () 1:00.53
5T = 5 HTE IR HTE —t A
800m 5/11 | #fell KAE () 201,20 X8 BN G 2.08. 148 BAG 215. 73| B8 RAQ 2.17.98 M0 R 2517|287 B&E G 2.05.5| 58 ERQ 2:25.80| BB i Q) 2.33.06
HTE 7= - HTE A 1 5T A
1500m 5/11 |iEK FEZ 4:25. 44| A% #H Q) 4:41. 82| &F Fost(1) 4:55.81| Kk 1BZ Q) 4:56.59|F 5 & 4:59. 77| H L £—(2) 5:04.11|#htE R (1) 5:04.64| K EHA) 5:07.73
BEY5T HIE — =0 B i BELEY =
3000m 5/11 |ZE@ 1&(2) 10:04.52|/NE KEANQ) 10:15.56 | %[/ 581 (3) 10:22. 12| &)1 & (Q2) 10:33.35 |#F EXQ) 10:47.38 | 5%k B2 10:50. 77
BIH —h ERE wE — EHE —t
B EEn 511 | Kl %@ 60| kB ok () 55| B18  BIA (2 mis||E —F (1) 0 |53+ AL 2) n20
HTE myE e HTE 5T
FENEHE 5/11 |[E%E FE 6m46/ 0.0 |#H #IEQ) 6m18/ 0.0+ Z|AQ) 6m07/ 0.0(3k/R &% (3) 5m38/ 0.0|&H:E #ifth(3) 5m24/ 0.0[3% M {E%(2) 5mi4/ 0.0\ Z5#E E Q) 4m97/ 0.0|#5H K#(Q2) 4m86/ 0.0
—fg myE 5T 7= myE IR A IR
AR 5/11 | RiE BE®) omia| EA BFQ mo6|BIE IEA ) o512 BA Q) B3 |E0 WA Q) a2 ME FNT T R B6) Tnia|BE XA Q) n93
(5. 000kg) HTE HTE A A = HTE =k HTE
4x100m 5/11 | FEEhA 45.97| HT EPA 46.69| EFiEH 47.49| —h 47.60 |EEZEA 47.82 | FyEsp 49.21\ %3 F+B 49.92|—th 50. 32
PN PO T30 & REQ) BR WHE) W BIEQ) s A 8 XK AL 2R )
= BE(O) B 2RO EHE &) AH 125 Q) WA 2 G) BE Q) TR 16 3 BH Q)
g EQ =E BEQ mE EQ) B OERQ =2 A R 10) HE HO) EOBHKQ)
i WAQ) RE BRG) AR BEQ XT WHQ HEHExG) i K—(3) 53 HMAG) £ IAG)
ZF/N50m 511 [fedk =# Q) 11.18
2% FoEs
EF/N50m 5/11 | hE EBEQ) 898 HH ZUHG 9.60| B8 HEQ) 9.66| A EB Q) 9. 70| BRI ZERTEG) 9.86m B 9.03
F35F FoEs FoEs By Y FoEY FoEs
£/ 100m 511 | FAR 25 @) 1808/ | HIE DRE @ 18.53/| KB %& (@) 19.17/
FALE FREY B )
}E?—’J 100m 5/11 | KR BB E (5) 15.78/|N@ E# (5) 16.12/| &R #h#&F S (5) 16.84/ | ®ik 7 (5) 17.29/ | A% KE(5) 17.37/| &% DA (B) 18.12/
#5 5 HEEY LY FoEY sy FoEs FoEs
E?—’J 100m 5/11 |$kA  JH(6) 17.99/
6 P
£FN100m 5/11 &% BE (6 473/ [RE #R0) 12.96/ BB 5G# 6 15.16/| K% #1(6) 15.59/ | X8 %5 ) 15,81/
A FREY FoEs FoEY FoEs FoEY
800m 5/11 |FEA #b2= (6) 2:37.76|8%K ZEIH(6) 2:42.17|38% #ER(6) 2:48.10| B B (5) 2:58.03| BB 24k (6) 2:59. 78| R HE (5) 3:02. 99| &N mkFE (1) 3:04.52|F1@E #&(4) 3:05. 95
) sy By LY By LY By Y
FEIFHE 5/11 |#&@ & (6) 4m16/ 0.0
zT FiEY
B 1 00m 5/11 | 857 A 57.80
A& =5 (6)
HE BB E6)
i BB (6)
BE AKG)




#7016 FEPRETESR LBRRGS RO AN e

nnl H _Eﬁ‘i
FRGTHELFREREES sns
15 EEA B 14 241 3fi atr 5 fi 61 7H 8
100m 5/11 [1&E B8 Q) 13.51/ |2 # Q) 13.53/|#% R4 (3) 13.71/|ER #F Q) 13.74/| KB E& () 13.80/|ILAX %EXZE(2) 14.10/ ;8 Z&EQ) 14.15/|K¥% #;W(Q) 14.20/
FEsE my s IR my s —f = EHE —h
200m 5/11 &% f£&EQ) 28.25/|RR #REQ) 31.03/
= EHE
800m 5/11 |IhMR - #75(3) 2:30.03|hE BHEQ 2:38.93|/MA BBETH(2) 2:41.56| 288 #HEQ) 2:42.98|% #1EQ 2:44. 80| K #HFEQ 2:45. 24| A HhE (1) 2:46.97|88K *L7E(2) 2:47.83
m = FEsE s IR EHE i ey
1500m 5/11 | &R FE®Q) 5:05.63| A D <H(3) 5:07.46|7kE £ Q) 5:25. 77|86 K #WZ=(Q) 5:30.25|FF# #m(1) 5:32.29|/i# #Z=(3) 5:36.93|ME #EMERT(2) 5:37.48| A EZ(2) 5:38.63
—f —r BTE ] —f HTE =4 =
TN EE® 511 | BiE #@Q) s 550 m35
B HIE 5T
ENEHE 5/11 | F&E ZFHQ) 4m45/ 0.0 2% HUL\Fi(Q) 440/ 0.0|#3# FZEQ) 4m38/ 0.0|BER FEH(3) am22/ 0.0| ¥ #eME() 4m17/ 0.0|#H# BEQ) 3m99/ 0.0|FFE HFK Q) 3m98/ 0.0(K/E FTXKEQ) 3m91/ 0.0
mysE HTE IR —r BTE my s BTE IR
Ak 5/11 |48 HBXREQ) 1md1 | 85K KZQ) Im29 | {£BE HR®Q) 8m85|[/hlU D EQ) mot |FHE  EQ) Tm80 [;EEF W Q) Tm18
(2.721kg) Zh Y HTE b 1) biti] EHE
4%xXx100m 5/11 | HEEZEA 53. 28| FRiE R 54.09| B3 E£H 54.39 | fEE h 55.15 |5/ 55.86| EAfEH 55. 88— 56. 80| 57.08
BA EEQ) % B|RO) BA FTFQ) Y ET6) AR B2 RE HAEQ) A RO Sl R Q)
= RO HiH HZQ 2% HULF Q) B EHQ EEE DEQ) EE BEEEQ) KB EHEO) BE Q)
MO #EE) WE FHE BAR BEQ B Q) xR 20 RRE KEQ) A EBQ) BE AZQ
E#E CELQ) HBE HQ) RE BEQ) BEN MEQ EE KRQ A OEEQ) EH BEQ) EE EmREQ)




